2A: 2ZHL
3y 22 JAsH (B2 /2E)

R 2BHEAY F=A (et=: &)
RA M- B(E) - HENY - BaS o B DS

SHZOHE 1t 50,233,792 56,559,543 £6,325,751
X 22,654,000
Il 14,358,000
S 13,221,792

2T U2 2E/2E) 50,191,400 56,517,748 £6,326,348
X 22,654,000
7| 14,358,000
< 13,179,400

SHENLALY =& 22,972,300 22,076,600 895,700
N 17,671,000
S 5,301,300

ZEX HLE(=2) 2,730,000 2,730,000 0
X 2,100,000
& 630,000

403 XM S 20/ & 2,730,000 2,730,000 0
Xl 2,100,000
S 630,000

01 AXHM A2 EX 2,730,000 2,730,000 0
O&ZX Hg 2,730,000
X 2,100,000
& 630,000

22T N (=2) 5,957,900 6,178,900 A221,000
X 4,583,000
T 1,374,900

403 XXX S XH2 0l & 5,957,900 6,178,900 £221,000
X 4,583,000
&< 1,374,900

01 IXISHHMAEEX 5,957,900 6,178,900 A221,000
O=st&AZINE He 5,957,900
A 4,583,000

=S 1,374,900 ,

MEfsMZZIY W (=1) 5,297,500 4,810,000 487,500
X 4,075,000
s 1,222,500

403 XtXIEtH S X201 & 5,297,500 4,810,000 487,500
X 4,075,000
S 1,222,500

01 TXEMIA2EE 5,297,500 4,810,000 487,500
QMBI =MAB A e 5,297,500
X 4,075,000
& 1,222,500

ZAABFTENL(21) 807,300 975,000 A167,700
X 621,000
& 186,300

403 TtXISH S K01 ™ 807,300 975,000 A167,700
X 621,000
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SA BN D
N UADY AU (2 UTDE/BD)

ol oc o

e ZZIONEALY =T

SA - FB - O9(30) - NRAY - BYS ol ot e

55 300

01 A XISMA2E = 807,300 975,000 A 167,700
OZIAAS R NL 807,300
X 621,000
= 186,300

2 sMSEX(RF)(=D) 2,185,300 1,844,700 340,600
Xl 1,681,000
T 504,300

403 At XIEHSX201™ 2,185,300 1,844,700 340,600
Xl 1,681,000
T 504,300

01 XX SHHA2EE 2,185,300 1,844,700 340,600
OUE SMSHEIU(AF) 2,185,300
Xl 1,681,000
< 504,300

S =M Q89 =(34)(=21) 1,940,900 1,355,900 585,000
Xl 1,493,000
= 447,900

403 RMXISHHSKE201H 1,940,900 1,355,900 585,000
X 1,493,000
& 447,900

01 RtXIESHA2EE 1,940,900 1,355,900 585,000
OS2 sMIE F(FH) 1,940,900
Xl 1,493,000
= 447,900

ZEA HE X2 MEHR(EBHY)(=2) 1,961,700 841,100 1,120,600
X 1,509,000
< 452,700

403 XXM S X=01™ 1,961,700 841,100 1,120,600
X 1,509,000
< 452,700

01 XSS EER 1,961,700 841,100 1,120,600
OEEAL HE XcIMdHHR 1,961,700
X 1,509,000
= 452,700

H2 242302 (84)(=21) 2,091,700 1,063,400 1,028,300
X 1,609,000
= 482,700

403 RtXISM S X=201™ 2,091,700 1,063,400 1,028,300
X 1,609,000
= 482,700

01 IIXISHAE2EER 2,091,700 1,063,400 1,028,300
o4 ZHEs0S(84H) 2,091,700
X 1,609,000
£ 482,700
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S
=EF
=EE

o
SR pg

YL (ST /2E)

'qﬁ(ﬂﬂﬂ HI

Mﬁ EQE

SH5E R N 25,703,300 32,433,200 26,729,900
X 4,983,000
b 14,358,000
[ 6,362,300
HOAVE HEAY(2D) 2,252,900 2,197,000 55,900
% 1,733,000
< 519,900
403 I SHHS X201 & 2,252,900 2,197,000 55,900
X 1,733,000
= 519,900
01 RXSHRESE 2,252,900 2,197,000 55,900
OMOIALE HEZ ALY 2,252,900
X 1,733,000
= 519,900
OIAFE A2 SHEZAIY (21) 1,300,000 2,600,000 21,300,000
b 1,000,000
< 300,000
403 RIS S X0/ & 1,300,000 2,600,000 A1,300,000
bl 1,000,000
= 300,000
01 ARSI RHESE 1,300,000 2,600,000 1,300,000
OOIAHE HAI2EHETAY 1,300,000
Jl 1,000,000
= 300,000
ARD DX N 440,000 350,000 90,000
308 XXl EHHIS O & 20,000 0 20,000
01 HXICHHZAEED 20,000 0 20,000
omZE AN 2| MEBA XY 20,000
403 HXISHHS =01 & 420,000 350,000 70,000
01 RASHRESE 420,000 350,000 70,000
o2& 2= W03 XY 100,000
OZLE L2 22V HOIHA ZHAY 50,000
OZLE OHEHHID| YOI E Y CH ’guw.:. 50,000
0%e RICS A0l 2 ZHAY 20,000
OMEAl HHDSESE SO S8t BAYBTI} 200,000
IVGIALE FH(2D) 2,665,000 2,210,000 455,000
X 2,050,000
= 615,000
403 XIS S XH=01 & 2,665,000 2,210,000 455,000
X 2,050,000
[ 615,000
01 HXSHHXEEE 2,665,000 2,210,000 455,000
o=NIIHLE =y 2,665,000
% 2,050,000
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=

DREIONE I

M YHBT AyU(SHUBT/BT)
e EM4stE 22RO
BN B S9(30) - MRAY - BEZ

EYZ SHHMAH PH(21) 1,560,000 162,500 1,397,500
N 1,200,000
T 360,000

403 XHXIEHRIS 201 & 1,560,000 162,500 1,397,500
Xl 1,200,000
T 360,000

01 XA A2EE 1,560,000 162,500 1,397,500
OEYZ GHUHMH = 1,560,000
Xl 1,200,000
T 360,000

MEHAIA R A HED|IB =L (FA)(=2D) 793,390 0 793,390
| 610,300
T 183,090

308 XL XI X SOI& 793,390 0 793,390
J| 610,300
T 183,090

01 IXItHMZBAEES 793,390 0 793,390
OMEHAM AR A HEDIB T4 (AHA) 793,390
Jl 610,300
& 183,090

MEjAAR A HEDIB ZL(XE)(=1) 1,922,960 1,290,900 632,060
Jl 1,479,200
T 443,760

403 XA SK=0| ™ 1,922,960 1,290,900 632,060
J| 1,479,200
T 443,760

01 XM AEEE 1,922,960 1,290,900 632,060
OMEIAA R A MEDIEH ZH(XE) 1,922,960
Ji 1,479,200
& 443,760

HEZXS 302 =4 (Z2A)(=21) 950,560 175,500 775,060
Il 731,200
T 219,360

308 XXM SOIE 950,560 175,500 775,060
Jl 731,200
< 219,360

01 IXICtHZBAEEZ 950,560 175,500 775,060
OHZXY E30I2 T4 (34 950,560
Il 731,200
T 219,360

HZXS S50t =4 (XE)(21) 2,020,590 5,861,050 £3,840,460
J| 1,554,300
& 466,290

403 Mt EHS =01 H 2,020,590 5,861,050 A3,840,460
Il 1,554,300
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S A

=EE

el S

BN LD
UABY ABYSH(SHUDB/BT)

Sf HEXE N

(e AA)
L N : o .
-?—kl @i" Gt%(ml) kll'='}\}% Evge o aro G | na=m

01 XA A2E X 2,020,590 5,861,050 23,840,460
OHZEXN S30t2 =M (X2) 2,020,590
I 1,554,300
& 466,290

st Ed 2AX SH(Z4)(21) 744,250 627,900 116,350
| 572,500
= 171,750

308 AHXISM SO 744,250 627,900 116,350
I 572,500
= 171,750

01 RXICHBAZSE 744,250 627,900 116,350
ostdHsZ LA =X 744,250
I 572,500
T 171,750

stes2 24Xl SH((XE)(=22) 241,150 0 241,150
| 185,500
< 55,650

403 IR S X201 & 241,150 0 241,150
| 185,500
=S 55,650

01 XXM A2E X 241,150 0 241,150
ostALsZ LAX SH(NE) 241,150
J| 185,500
& 55,650

H2A OIS ¥ T FH(AN)(2D) 1,068,600 1,211,600 £143,000
J| 822,000
= 246,600

308 XtXI M SO0 & 1,068,600 1,211,600 A 143,000
I 822,000
= 246,600

01 RIXEHMBAEEZ 1,068,600 1,211,600 A 143,000
O3 0d0IE & =gt ZH(ZA) 1,068,600
Il 822,000
< 246,600

Qzama ZH(XE)(2D) 2,323,750 1,162,200 1,161,550
I 1,787,500
& 536,250

403 A XIS KH=01E 2,323,750 1,162,200 1,161,550
J| 1,787,500
& 536,250

01 XG2S X 2,323,750 1,162,200 1,161,550
oLzectn3a =4 2,323,750
| 1,787,500
& 536,250
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(=]
e

DN

A ZH
o=
et

FPTT LS (ESA 2B /2R)
S45E SR K

(Sl @)
SA - B8 E9(31) - RAY - B  Olare s w2

A8 2 OIAWE 4 MEZ =4 (X2)(=32) 2,031,250 1,739,400 291,850
J| 1,562,500
< 468,750

403 XX SRS XHE01& 2,031,250 1,739,400 291,850
| 1,562,500
& 468,750

01 AXSHMA2EE 2,031,250 1,739,400 291,850
O4g & OIS 4 MER =4 2,031,250
I 1,562,500
= 468,750

A2 FEIADR =M (FA)(=1) 214,500 0 214,500
J| 165,000
= 49,500

308 MtXISHSOIE 214,500 0 214,500
I 165,000
= 49,500

01 AXSHHBAEES 214,500 0 214,500
OAZZ FEIADS Z=H(EY) 214,500
| 165,000
& 49,500

AT BEIADN Z&(XHE2)(2D) 2,438,150 1,162,200 1,275,950
I 1,875,500
& 562,650

403 XM S K0 2,438, 150 1,162,200 1,275,950
| 1,875,500
< 562,650

01 AXSHA2EE 2,438,150 1,162,200 1,275,950
OAZZl FEIAD ZH(XE) 2,438,150
I 1,875,500
< 562,650

UEBDS BHE ZRME(XE)(2D) 447,200 330,200 117,000
I 344,000
& 103,200

403 XSRS 20/ 447,200 330,200 117,000
I 344,000
= 103,200

01 AXIEHA2EE 447,200 330,200 117,000
oYEHINE 435 ZZNE 447,200
I 344,000
& 103,200

SOIMBAL 2 BRAAE ZTH(XH2)(2D) 2,169,050 1,515, 150 653,900
J| 1,668,500
& 500,550

403 XX SHHSXHE0I A 2,169,050 1,515,150 653,900
| 1,668,500
= 500,550
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2A: 2ZOHL
B AABT AU (SHUBT/BT)
tel: S45E 22X g CEERE)
HA-EY. '414(2!31!) e A - Egg o arey S HREY
— — e e
01 IfIIEFHIIPEE?F_ 2,169,050 1,515,150 653,900
O=0IHEANE & BAAANE =4 2,169,050
pl 1,668,500
T 500,550
Xlta A2 ALIRZ 2108 20,000 0 20,000
308 AtXIHMSOIH 20,000 0 20,000
01 ARSI AEZTZ 20,000 0 20,000
ORI EEH=S ALIRY 2|08 20,000
2/E €8 2 I8 & BE 100,000 0 100, 000
403 XXM S A=01 A 100,000 0 100,000
01 AXSHAEEX 100,000 0 100,000
oA HE 2 ¥ 100,000
22X U € 22l 586,000 520,000 66,000
ZBXAE 3H & 2e| 450,000 390,000 60,000
201 829 5,000 5,000 0
01 At 22lHI 5,000 5,000 0
OZZIMLAIY =& 5,000
202 o4 Hi 15,000 15,000 0
01 =W YI 15,000 15,000 0
OZZIMLAIY HEEFZ & 22| 15,000
307 212t0| A 100,000 100,000 0
05 QI3 100,000 100,000 0
OEFNHI A Fe&a 100,000
308 AXHMSO0IH 150,000 150,000 0
01 RSB AEZTZ 150,000 150,000 0
OC&EY T2 E o 2 150,000
403 A XISHS AH=0|™ 180,000 120,000 60,000
01 AIXISHHAZ2EXR 180,000 120,000 60,000
QUYE 2YIME L 43} 80,000
OUBAYENL FXE ZLEAES 100,000
SARD AXEE Y 18,000 0 18,000
207 Ao | 18,000 0 18,000
01 g E4HI 18,000 0 18,000
OFTARE X2 e 18,000
2T = F 22X HAAS 18,000 0 18,000
207 SN 18,000 0 18,000
01 gEAH| 18,000 0 18,000
O & 2AZX THAAIY 18,000
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B 2FONL

=R~ o*iié%* Q%*%!BP( S 2AZ/2Z)

B 23X Hul ¥ 2c (918 J)
A - 3% FH(ann) Asne-Eas | oee %‘,gﬁ | wmsz
BEEEE 222 — 50,000 70,000 £20,000

308 MM S0IH 50,000 70,000 £A20,000
02 d+ug= : 50,000 70,000 £20,000
OBZ=E3E 2EE UTES 50,000
BZE23E SZHL AL 50,000 60,000 A10,000
403 TtXISHHSAH=201H 50,000 60,000 210,000
01 AXISHI=ZE X 50,000 60,000 210,000
OBZESE SZMH MY 50,000
ZZALNY FT 22,000 20,000 2,000
2ZANE ZEMY FA 22,000 20,000 2,000
201 23| 5,000 5,000 0
01 At 22|t 5,000 5,000 0
OHZANE ZHEMNY =2 5,000
202 04 Hl 17,000 15,000 2,000
01 SLHOI I 17,000 15,000 2,000
OJZANE ZEMY FH 17,000
BN =8 88,000 123,048 235,048
ST =8 88,000 123,048 235,048
201 Ler2EY| 5,000 5,000 0
01 At 22l 5,000 5,000 0
oZZTANMNE 3Nz NH S 5,000
202 Ol 13,000 13,000 0
01 =LHOIHI 13,000 13,000 0
O2AFT 2N FIES & HXOHY 13,000
308 AtXI A S0IH 20,000 20,000 0
01 AXIEHMBLEZS 20,000 20,000 0
OEAS(HNAESGIRA) 43 MY 20,000
403 XM S X201 & 50,000 0 50,000
01 HXSH =L 50,000 0 50,000
OZx £oS JIZ&3 HAMY 50,000
2FOGINA & UXRX FA - 819,800 15,000 804,800
SZAE LRI F=H 19,800 15,000 4,800
201 29| 5,000 5,000 0
01 At 22l 5,000 5,000 0
oZFANE AXNRI FH 5,000
202 01| 13,000 10,000 3,000
01 =LHOII 13,000 10,000 3,000
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SA 220
o YADT ABUSH(SALBR/BR)
EHel: 2FQSIINA H UNRX FH (el &)
A B aSi(3) - NRAY - Bas gies L SRR dHimse
I s . ‘ | ,_ ,_ i “:‘ ‘ L : b ““‘ ’
O3B ANE UXFX FA 13,000
405 THaHH SH| 1,800 0 1,800
01 HMRSEFH=HI 1,800 0 1,800
OZZAE 2 -5J X8 ESHFH 1,800
SESSE FAFH| 800,000 0 800,000
401 AIEHIZL 20 800,000 0 800,000
01 AIE2HI 797,000 0 797,000
OHES=R =X 797,000
03 A€ =T b 3,000 0 3,000
OYES=] RN 3,000
Y2 AL (2HZHL D) (J1EH/DIE) 42,302 41,795 597
Jl2ZH| 42,392 41,795 597
FA2g Jl=3hl 42,392 41,795 597
201 et23H| 27,392 26,195 1,197
01 AFS 22/ 24,992 25,195 A203
ORAM2Y ArR22lH| 24,992
02 3324 2,400 1,000 1,400
ORNA2E S3E4H 2,400
202 Od I 11,400 11,400 0
01 =LHOIHI 11,400 11,400 0
OFA2E U0l 11,400
203 Y R FAH| 3,600 4,200 2600
FA2HYERFT 3,600 4,200 A600
©202! Ol5t 300,000& *12& 3,600
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